Rechenkastchen
Ubungen

Erganze die Rechenkastchen.

1286 |+ 697 = 983
+

398 |=| 31

1429 |-
135+ 576 = |
+ -
1820]-511 = |
I
1954376 /=
+ -
1698 - 357 = |
I
122+ 340 = |
+ -
1401]-318|= |
I

(714 [+ 151 5
+ -
1190 |- 142 =
]
1165 [+ 467 |=
+ -
1558 |- 304 =
]
1275 |+ 689 |=
+ -
1598 |- 383 =
]
1408 |+ 469 =
+ -
1536 |- 333 |
]
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Rechenkastchen
Lésungen

Erganze die Rechenkastchen.

1286 |+ 697 = 983
+ -

1429 |- 398 |=| 31 |

1135 |+ 576 = 711
+ -

1820 |- 511 |= 309

955] | 65 |

1195 |+ 376 |= 571 |
+ -

1698 |- 357 |= 341

1122 |+ 340 = 462
+ -

1401 - 318 = 83

523 | 22 |

(714 |+ 151 |= 865 |
+ -
1190 |- 142 |=| 48

1165 |+ 467 |= 632 |
+ -
558 |- 304 = 254

1275 |+ 689 |= 964 |
+ -
1598 |- 383 = 215

1408 |+ 469 = 877
+ -

1536 |- 333 = 203
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